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- «DesignCrossSectSurf name="Pavement" desc=
material="hIBAF A I 7L HESW" >

side="left" closedArea="true" typicalThickness="0.05"

<CrossSectPnt code="LP1n1lcl1">-0.75000000 95.30000000</CrossSectPnt=>
<CrossSectPnt code="LP1n2c1">-1.25000000 95.33000000</CrossSectPnt>=
< CrossSectPnt code="LP1n3cl1">-4.25000000 95.51000000</CrossSectPnt=
<CrossSectPnt code="LP1n4cl"»-7.25000000 95.69000000</CrossSectPnt= @
<CrossSectPnt code="LP1n5c1">=-7.50000000 95.70500000</CrossSectPnt>=
<CrossSectPnt code="LP1n6c1">=-7.50000000 95.65500000</CrossSectPnt=>=
<CrossSectPnt code="LP1n7c1">-7.25000000 95.64000000</CrossSectPnt>
<CrossSectPnt code="LP1n8c1">-4.25000000 95.46000000</CrossSectPnt>
< CrossSectPnt code="LP1n9c1">-1.25000000 95.28000000</CrossSectPnt=
<CrossSectPnt code="LP1n10c1">-0.75497018 95.25029821 </CrossSectPnt>
<CrossSectPnt code="LP1nlcl">-0.75000000 95.30000000</CrossSectPnt>=
«<Feature>

<Property value="RIg" label="pavementcClass"/ =
«</Featurex

«/DesignCrossSectSurf>

- «DesignCrossSectSurf name="Pavement" desc="" side="left" closedArea="true" typicalThickness="0.05">
<CrossSectPnt code="LP1n1c2"»-0.75497018 95.25029821 </CrossSectPnt
<CrossSectPnt code="LP1n2c2">-1.25000000 95.28000000</CrossSectPnt>
<CrossSectPnt code="LP1n3c2">-4.25000000 95.46000000</CrossSectPnt>=
<CrossSectPnt code="LP1n4c2">-7.25000000 95.64000000</CrossSectPnt=>= @
<CrossSectPnt code="LP1n5c¢2">=-7.50000000 95.65500000</CrossSectPnt>
< CrossSectPnt code="LP1n6¢c2">-7.50000000 95.60500000</CrossSectPnt=
<CrossSectPnt code="LP1n7¢c2">-7.25000000 95.59000000</CrossSectPnt>
<CrossSectPnt code="LP1n8c2">-4.25000000 95.41000000</CrossSectPnt>=
<CrossSectPnt code="LP1n9c2">-1.25000000 95.23000000</CrossSectPnt>
«<CrossSectPnt code="LP1n10c2">-0.75500000 95.20030000</CrossSectPnt=>
<CrossSectPnt code="LP1n11c2">-0.75500000 95.25000000</CrossSectPnt=>
=CrossSectPnt code="LP1n1c2">-0.75497018 95.25029821 </CrossSectPnt>
<Featurex

<Property value="HEE" |abes/="pavementcClass"/
</Feature=
< /DesignCrossSectSurf>
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